= Organic Chemistry [ Jasperse
Test 2, Radical bromination: Extra Radical Bromination Product Prediction and Mechanism
S Practice Problems
T
= Note: In each of the following, draw the MAJOR mono-brominated product, and/or draw the mechanism (full arrow-
pushing) for the propagation steps in the radical mechanism. Initiation need not be illustrated..
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Note: Was error in original draft of this problem. /Y\

And answer key is corrected, but the explanatory video
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Note:  Was error in original draft of this problem.
And answer key is corrected, but the explanatory video will not really fit this specific structure.  
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